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Quiz Date: 16" May 2020

Directions (1-15): In these questions, two equations numbered I and II are given. You have
to solve both the equations and give answer:

Lx*-9x+18=0
o IL 5y*-22y+24=0
(a)ifx<y
(b)ifx>y
(q)ifx<y
(d)ifx=zy
(e) if relationship between x and y cannot be determined

L6x?+11x+5=0
2

Q. II. 2y +5y+3=0
(a)ifx<y
(b)ifx>y
(c)ifx=<y
(d)ifx=y
(e) if relationship between x and y cannot be determined

Lx*+10x+24=0
0 ILy>-v625=0
(a)ifx<y
(b)ifx>y
(0)ifx<y

(d)ifx=y
(e) if relationship between x and y cannot be determined

L10x2+11x+1=0
2 _
Q4.[l. 15y°+8y+1=0

(a)ifx<y
(b)ifx>y
(g)ifx<y
(d)ifx=zy
(e) if relationship between x and y cannot be determined
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L15x* - 11x+2=0
2

Q. I 10y* -9y +2=0
(a)ifx<y
(b)ifx>y
(g)ifx<y
(d)ifx=y
(e) if relationship between x and y cannot be determined

I. 5x—7y= —24
Q6. II. 13x+3y=86
(a)ifx>y
(b)ifx=y
(c)ifx<y
(d)ifx<y
(e) if x =y or no relation can be established between x and y.
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I.x2—13x+40 =0

@ II. y>+3y—40=0

(a)ifx>y

(b)ifx=zy

() ifx<y

(d)ifx<y

(e) if x =y or no relation can be established between x and y.

I. 8x2—26x+15 =0
08 I 2y2—17y+30=0
(a)ifx>y
(b)ifx=y
(0 ifx<y
(d)ifx<y
(e) if x = y or no relation can be established between x and y.
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I. x2= 484
00, 11 y>—45y+506=0

(a)ifx>y

(b) ifxzy

(c)ifx<y

(d)ifx<y

(e) if x = y or no relation can be established between x and y.

[. 13x—21= 200 — 4x

o101 y=V2197

(a)ifx>y

(b) ifx=zy

(c)ifx<y

(d)ifx<y

(e) if x =y or no relation can be established between x and y.

L4x*—15x—46=0
Qll.ll' Eljfz + 35}’ +46 =0
(a)ifx>y
(b)ifx=y
(q)ifx<y
(d)ifx<y
(e) If x = y or the relationship cannot be established

L2x*—x—10=0
2 —

iz, 127° —y—21=0
(a)ifx>y
(b)ifx=y
(g)ifx<y
(d)ifx<y
(e) If x = y or the relationship cannot be established

Lx*—3x—88=0
quz 1Ly +8y —48=0
(a)ifx>y
(b)ifx=y
(0)ifx<y
(d)ifx<y
(e) If x = y or the relationship cannot be established
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L2x*—9%+9=0
e ILY2 =Ty +12=0
(a)ifx>y
(b ifx=y
(g)ifx<y
(d)ifx<y
(e) If x = y or the relationship cannot be established

L4x2+19x + 22 =0
IL2y2+ 11y +15 =0

Q15.
(a)ifx>y
(b)ifx=y
(0)ifx<y
(d)ifx<y
(e) If x = y or the relationship cannot be established
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Solutions
S1. Ans.(b)
Sol.

Lx*-9x+18=0
x2-6x-3x+18=0
%(x-6)-3(x-6)=0
(x-3)(x-6)=0
Xx=3,6

IL. 5y* - 22y + 24 =0
Sy - 10y - 12y +24=0
Sy(v-2)-12(y-2)=0
y-2)(5v-12)=0
y=21§

LX>Y
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S2. Ans.(d)
Sol.
L6x*+11x+5=0
6x°+6X+5x+5=0
6x(x+1)+5x+1)=0
(x+ 1) (6x +5)=0
5

x=1-=
6

IL2y* +5y+3=0
2y* +2y+ 3y +3=0
2y(y+ 1) +3(y+1)=0
(v+1)([2y+3)=0

y= r 2
~X 2y
ENGLISH
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S3. Ans.(e)
Sol.

Lx*+10x+24=0
X2 +6x+4x+24=0
¥(x+6)+4 (x+6)=0
(x+4)(x+6)=0

x=-4,-6
ILy*-+625=0
y: =14/625

y? =25y = 15
~ Relationship between xand y
cannot be determined

S4. Ans.(e)
Sol.
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I 10x* +11x+ 1=0
10x* + 10x+ x+1=0
10xx+1)+1(x+1)=0
(x +1)(10x+1)=0

1
x=—-1,——

10
IL15y*+8y+1=0
15y +5y +3y+1=0
S5y (3y+1)+1(3y+1)=0
(By+1)}(Gy+1)=0

1 1

Y=T37s

~ Relationship between x and y

cannot be determined

S5. Ans.(c)
Sol.
15 - 11x+2=0
15x° -5x-6x+2=0
S5x(3x-1)-2(3x-1)=0
(3x-1)(5x-2)=0
12
=35
IL10y* -9y +2=0
10y° -5y -4y +2=0
Sy(2y-1)-2(2y-1)=0
(2y-1) (5y - 2)=0

X

S6. Ans.(c)

Sol.
65x — 91y = —312
65x + 15y = 430
Solvingeqn,y=+7,x =5
X<y

S7. Ans.(b)
Sol.
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¥ —8x—5x+40=0
¥(x—8)—-5x—8)=0
x=258
y*+8y—5y—40=0
y(y+8)=5(y+8) =0
y=5—-8

xr=y

S8. Ans.(d)
Sol.
Bx?—20x—6x+15=10
4x(2x —5)—3(2x —-5) =10
_ 35
T4’z
2y? — 12y —5y+30=0
2y(y—6)—5(y—6) =0 y=,6
X=y

S9. Ans.(d)
Sol.
x=22-22

y2—22y—23y+506=0
y(y—22)—23(y—22) =0
y=22,23

Xx=y

S10. Ans.(e)
Sol.
x=13
y=13
xX=y

S11. Ans.(b)
Sol.
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L 4x*- 15x-46=10
=4%7-23x+8x-46=0
= (4x-23) (x+2)=0

23
;'”'.'Xf:—zj?

Il 6y° + 35y + 46 =0
= 6y° + 12y + 23y + 46 =0
= (y+ 2) (6y +23) =0

23

= .}r = _2.1 _F

X2y

S12. Ans.(e)
Sol.

L2x°-x-10=0
=2%%-Bbx+4x-10=0
= (2x-5)(x+2)=0

3
:‘XZE,—E

IL2y*-y-21=0

= 2y°-Ty+6y-21=0

= (2y-7) (y+3)=0
7

:'}-':E,—S

No relation

S13. Ans.(e)
Sol.

L.x*-3x-88=0
=(x-11)(x+8)=0
=x=11,-8
ILy*+8y-48=0

= (y+12) (v-4)=0
=y=4,-12

No relation

S14. Ans.(d)
Sol.
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L2x°-9x+9=0

= 2x*-6x-3x+9=0

=x-3)(2x-3)=0
3

;'”'.'X.':B,E

ILy*-7y+12=0

=y’ -3y-4y+12=0

=({y-3)(y-4)=0

=y=34

y=X

S15. Ans.(e)
Sol.
L4x* +19x+22=0
=4x°+8x+11x+22=0
= (x+2)(4x+11)=0

11
=x=-2, -4
IL2y*+ 11y +15=0
= 2y° + 6y +5y+15=0
=(y+3)(2v+5)=0

5
=Sy=-3,—3
No relation
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